D3000

Spare Parts Guide

Page 1 of 12 17487-00 Rev B s5 April 2009



DBOOO Spare Parts Guide

Contents

Description Page

Spare Parts for All
REGIONS ..., 3

Spare Parts for Europe, Middle East and Africa
REGIONS ..., 4

Spare Parts for North America, Latin America,
Asia Pacific and Japan Regions....................... 8

Page 2 of 12 17487-00 Rev B s5 April 2009



D3000

Spare Parts Guide

Spare Parts for All Regions

Graphic Code No.

51606

51351

58017

i}
[]
(oo
I
EDD Qimﬂ@ 1208789
o @

0oo o
DDDDDEQQG

[ [Do000000]([0000

Description

Cover For Blank Pump Position Series 100

Motor/Gearbox SnapHead Small

Uniview

CCT BRD D3000

Page 3 of 12

17487-00 Rev B s5 April 2009



D3000

Spare Parts Guide

Spare Parts for Europe, Middle East and Africa Region

Graphic Code No.

1208758

51371

1208362

93307

1207125

Description

Cartridge 150ml Norprene 6/6 mm

Cartridge 150ml Norprene 6mm Barb

Cartridge 20ml D-Flex 6/4 mm

Cartridge 80ml D-Flex 6/6 mm

Tube 150ml Norprene+6/6mm Inserts

Page 4 of 12

17487-00 Rev B s5 April 2009



Dsooo Spare Parts Guide

Spare Parts for Europe, Middle East and Africa Region

Graphic Code No. Description

69846 Tube 150ml Norprene Det 14B Insert

1207126 Tube 20ml D-Flex + 6/4mm Inserts

1207127 Tube 150ml Norprene + Ties

1.60mm |I/D
4.77mm O/D

e

1207128 Tube 20ml D-Flex + Ties

4.77mm |/D
7.95mm O/D
37617 Tube 150ml Norprene
1.60mm |/D
4.77mm O/D
91756 Tube 20ml D-Flex

\

Page 5 of 12 17487-00 Rev B s5 April 2009



D3000

Spare Parts Guide

Spare Parts for Europe, Middle East and Africa Region

Graphic

Code No.

56581

1207149

1207150

67741

65498

37598

65348

65360

Description

Tube Insert 6mm (1/4) Barbed 100 Series

Nut + Olives For 6mm Tube 20 Pieces

Nut + Olives For 4mm Tube 20 Pieces

Connector Elbow 6mm stainless steel

Connector Elbow 6mm polypropylene

Switch Rocker On-Off

Valve Non Return NRV12 (4mm)

Valve Non Return NRV12 (6mm)

Page 6 of 12

17487-00 Rev B s5 April 2009



D3000

Spare Parts Guide

Spare Parts for Europe, Middle East and Africa Region

Graphic Code No.

1207188

1207226

66135

35395

35380

67001

1207084

v N
A
/
/ 1207085

41318

Description

Valve Non Return NRV12 (4mm) Viton Seals

Valve Non Return NRV12 (6mm) Viton Seals

Transformer 230VAC/23VAC 12VA

Probe D42 Plug-In Type K=0.4

Probe D44 Thermistor Type K=0.4

Lubricant Silicone Grease 111 (100g)

Sinker Extruded 4mm Tube & Caps

Sinker Extruded 6mm Tube & Caps

Tie 4 (100mm)

Page 7 of 12

17487-00 Rev B s5 April 2009



D3000

Spare Parts Guide

Spare Parts Offered in Americas, Asia Pacific and Japan

Graphic Code No.

039556

092995

091621

091940

039553

Description

Norprene Detergent Tube, 1/4"T

Flex Rinse Tube, 1/8"T x 1/8"T

Flex Rinse Tube, 1/4“T x 1/8“T

Flex Sanitizer Tube, 1/4“T x 1/4“T

Norprene Detergent Tube 1/4“T x 1/4“T

Page 8 of 12

17487-00 Rev B s5 April 2009



D3000

Spare Parts Guide

Spare Parts Offered in Americas, Asia Pacific and Japan

Graphic Code No. Description

1203652 Flex Sanitizer Tube 1/4“T x 1/4“T

092849 Flex Rinse Tube 1/8"T x 1/8"“T

1206792 Flex Rinse Tube 1/4“T x 1/8"“T

037617 Norprene Detergent Tube, bulk, 0.188“ID x 5.217“L

/ 091757 Flex Sanitizer Tube, bulk, 0.125“ID x 5.063L

091756 Flex Rinse Tube, bulk, 0.063“ID x 5.063L

043823 Detergent/Sanitizer Tube Fitting, Nut 1/4“T

017458 Rinse Tube Fitting, Nut 1/8“T

% 036969 Detergent Tube Insert, 1/4“T

Page 9 of 12

&

17487-00 Rev B s5 April 2009



DBOOO Spare Parts Guide

Spare Parts Offered in Americas, Asia Pacific and Japan

Graphic Code No. Description
090331 Sanitizer Tube Insert, 1/4“T
036982 Rinse Tube Insert, 1/8“T

022031 Detergent Bulkhead Fitting, Single Wall Tank, 90°, Polypropylene 22 mm/7/8*

Straight Rinse Injector, Nylon Body, Viton Valve, Polypropylene Tube

051467 Connection, 1/8”" x 1/8” NPT

051466 Straight Rinse Injector, Nylon Body, Viton Valve, Polypropylene Tube
Connection, 1/4” x 1/8” NPT

051465 Combination Rinse or Sanitizer Injector with Pressure Switch, Nylon Body, Viton
Valve, Polypropylene tube connection 1/4” x 1/4” x 1/8"NPT

O

035876 Combination Rinse or Sanitizer Injector with Pressure Switch, Nylon Body, Viton
Valve, Polypropylene tube connection 1/4” x 1/8” x 1/8’"NPT

018079 CP3400 Conductivity Probe, K=0.4, 7/8” (22 mm) hole, Polypropylene Body,
303 Stainless Steel Electrodes

093288 Dow Corning (tubing lubricant)

091962 Internal Transformer

Page 10 of 12 17487-00 Rev B s5 April 2009



DBOOO Spare Parts Guide

Spare Parts Offered in Americas, Asia Pacific and Japan

Graphic Code No. Description
/ 036857 PVC Snap-in Standpipe, 1/4” ID x 18" long
/ 050572 PVC Snap-in Standpipe, 1/8” ID x 18” long
g 1203775 Pressure Switch (for conveyer machines without rinse signal)
=y
| 097318 Shutoff Valve, 1/8” x 1/4”
=

E % 040091 Saddle Clamp 1/8” brass
oo

1206740 Pump Cartridge with Roller and Pins, no Tube

Page 11 of 12 17487-00 Rev B s5 April 2009



Dsooo Spare Parts Guide

Spare Parts Offered in Americas, Asia Pacific and Japan

Graphic Code No. Description

099312 Solenoid Valve Assembly, Metal

091934 Solenoid Valve Assembly, Plastic
Beta Technology Customer Service Global Technical Customer Service  Asia Pacific:
2841 Mission Street TEL: 831 .426 . 0882 ) North America: TEL +1 86 21-50509900 x 2520
Santa Cruz, CA TEL: 800 . 858 . 2382 (tollfree in US.A) TEL: 800 « 468 +4893 |toliHree in U.S.A) Japan:
US.A 95060-2142 iﬁii Sg(’) g? . gzz TEL: 262 = 631 4461 |international) TEL: +1 090-6506-5140
: . Europe, Middle East & Africa: Latin America
http://www.beta-technology.com TEL: #1630 +513 + 9799 TEL: +1- 541148428270

Beta Technology is 1S0 9001 Certified

Page 12 of 12 17487-00 Rev B s5 April 2009



